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QUESTION 1

Examine the below message definition. What is the result when the runtime locale is set to fr_CA? 

A. Washroom. 

B. Lavatory. 

C. Restroom. 

D. An error is displayed. 

Correct Answer: A 

 

QUESTION 2

Which three of the following are Application Tier Layers in the IBM Cúram SPM application? (Choose three.) 

A. Remote Interface Layer. 

B. Session Layer. 

C. Data Control Layer. 

D. Business Object Layer. 

E. Access Control Layer. 

F. Data Access Layer. 

Correct Answer: ADF 

Reference: http://www.knowledgewala.com/ibm-curam-7-x-certification-important-notes/ 

 

QUESTION 3

Examine this fragment of UIM code: 
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Which two statements about the UIM code are true? (Choose two.) 

A. Curamlogo.jpg corresponds to the name of an image file under the WebContent/Images directory. 

B. There can be no other UIM elements declared inside the CLUSTER. 

C. The IMAGE attribute can be specified as part of the CLUSTER element. 

D. The text associated with Image.Label.Logo is used as text for the image. 

E. A build client will fail because the IMAGE element should be declared inside a CONTAINER. 

Correct Answer: AC 

 

QUESTION 4

In the screenshot below, what type of application navigation element can be expected to correspond with the element
highlighted in red? 

A. Section. 
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B. Menu. 

C. Tab. 

D. Navigation Tab. 

Correct Answer: B 

 

QUESTION 5

Which tool do you use? 

A. Passport Advantage. 

B. Fix Central. 

C. RFE Tool. 

D. SR Tool. 

Correct Answer: B 
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